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8 1.359375 1.3671875 | 1.36328125| -0.03215
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>» % Today We're going to discuss the basic
>» % By Defining the Matrix &
> A=[1 2:3 4:5 §8]

L =
1 z
3 3
5 &

>» % By Defining the matrix B
>» B=[7 8:9 10:11 12&]

B =
7 =]
=] 10
i1 1z

>» % By making addition to bhoth A&B

anl

operation on Matrices

>> % Assume that the Eesult of summation would hbe denoted as C

>> C=A+HB

c =
8 i0
1z 14
16 18

1 23 ¢ ™\
a=l4 Sss Of a8 5 A s
W g oh als Al S pheaall
2 3D s
\ o Al phaaall 3 8 JEall A
0 4 i gz T
B=|3 O ol
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1 2
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== % By Defining the Matrix &
== A=[1 24 6,9 8],
== % By Defining the Matriz B
== B=[04,39,27];

>=>% C=A-B
== C=A-B
C=

Llaa 4Bl ¢ 5 Lag

1 ) .jg‘unh CJL‘JI J& J;F
1 -3 -
& 1

@D 18 ghaal) piia
Casin 230 ol N I5Y1 Aighiadl saeel 2ae (458 o) Clighiadll yum oy
M Al daaad)
- okt
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(8 21 17
24 66 54

(32 99 83)

(L<O)+(244)  (1x3)+(249)  (1<3)+(2+7))
(4<0)+(624) (43)+(6x9) (4<3)+(6x7)
L@ 0)+B<4)  (93)+(8<9) (93)+B<T) )
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Command Window

>> % By defining the Matrix &
>> A=[124 6,9 8],

>> % By Defining the Matriz B
>=>B=[033497], -

>> % C=A4A*B

>= C=A*B

8 21 17
24 66 54
32 99 83

Licilgaially cligiaa) o Luladl) el (3-7-3)

dgaia) Jgh. 1
== A=[123435678310]
== % It's required to get the length of A

== length(&)
Paga pall aldall sas gk |Eﬂgth—_1'-‘ty-ﬁhﬂ-;'
ans = PCRIpE
A\ lali ) el Lal
10 s [ S palta) aii ) real g 98 A g
148 giaal) a2
== A=[24 9,2 4 5]
A= .
size mY)
a4 9
2 4 5
== aizeld) L.
b gl S
ans = Daas Y] dis
-
2 35

Gl aa e ccall utiga ()
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ars =
Ladd 3aac ) dac ddjea L)) 13)-

== gze(h,2)

s =

Command Window
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Command Window

== A=(1,2. 3,4, 5.6,7, 8,9, 10],
== AC11:130=[11 12 13]
A S
1
2
3
4
5
g Aadiiial) AT Auaas a3
2 VLAY e
2
10
11
12
13

- dghuaall 48l /o

Jay e daas Y
= B4 14331 54 13 11] Jsd) G sy

y Vo ntr
B= 22l ) il
1 3 7 8
2 6 5 11
12 14 15 13 . )
31 54 13 1] fm— i) jaalad)
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Command YWindow

M=

—
=]

> A(3=15

A=

2 =

e w IS o SR R AR W I S S

To get started, select MATLAR Help or Demos from the Help mema.

== A=1, 2,345, 6,7, 8, % 10]
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o peadil) dey BT palal) dadd

R

W DD -] Ono Lk s

—
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A giaa)l pale Jladul /o
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Command Window

= A=[1,2.3. 4,5, 6,7, 8,9, 10]
A:
1
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>> A6:10=00000 ]
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T
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. Agiadl jaie Ciday MATLAB .54 Y
: palic dcgane Cida 8

dgaiall (pe adall /i

-

Gl an e ¢ el e (1)
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== A1, 2; 3.4, 5; 6,7, B, 9, 10]
A= -
ralixl) AS ganca dadal ah

'n.a_;':‘la. s gldaall

WODE ] ThoLh s ) D

—
=

Ladasas o0 All alixl)

M- 48 ginal) pa pualinl) cida /i
L DU Cadall 2y Il Caal) i Liayf 13 -

== B=[1378,26511,1214 15 13]
E=
1 3 7 8

2 & 5 11
1214 15 13

T Caall 3gae Cada Layi 1Y) -

Bl |
E=
L 3 7
2 B9
12 14 15

Gl aadl (1)
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(1):}4.'\9 sl 9
rdgaiall yale glai /i

TS S Agate e oS gl (4 paidl Bl e Jpandl s dgaie puaic sl

To get started, select BAATITI. AR Help or Demos from the Help menua.
== A=]1; 2; 3; 4, 5, 6; 7. 8, 9; 10]
o=
1
2 - 5 = -1 -
= ﬂ.a.qﬂé_j?,:é_)_)‘aa_1;-|4.n
B =l s s& las =
]
=
=
=
b=
10
ans =
5

D ddgiaall patal) glai /o

== B=[1378,26511;, 1214 15 13]
B=
1 3 7 B

2 6 5 1
1214 15 13

Gl dsanlly V1 Ciuall & jeaiall )y Ll il

== EB(1.3)

ae =

) an e e pal) g (1)
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M) jualic dsgara £1a3.10

il e alic dogara glai /i

DY) Jandly a8 Axiall (e pddne palic 4csens ad o Jpanll

== A=[1, 2. 3.4, 5, 6, 7. 8,9, 10]
A=
1
=2
=
=} = o
5 ﬂ.ﬁ-j.-:\_"_h_.q EPEE o e
& A 33 AT jecal I=T)
; adasd e ] geaal
=} a_*_n_'u:l.."l BTN E]
10
== A0S 100
ans =
=3
N
=
=
10

A8 giaal) a alie ¢l /o

F ) Jarg st ahll G dgenll (pag S Caall lalia Lyl 130

2= B(2,24)
ans =

& 5 11

DY) i) alay). 11
rAaial) B 5sY) jualal) slag) /i

L VIS G MaX el alasial 2 4siall G SV eaiadl slay

Gl gl il putien( 1)
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Command YWindoes

> A=[10 22 36 4144 59 61 73];
== maz(A)
ans =
[ER
. AN uSY) a8 )0 5 ViR Y

daal
M Ligian b Y juaind) alay) /o

o asee JS G SV guaill e dad) G aghy dbgiad) 8 HSY) il sy

cagee S e SV aBIL Anie Jasy a5y ey 48 siadll

Tiase 1S3 Ll Max e) Gl Ll

== B=man(d)
E=

232 15 15 11

D aY) paiall alay) (12
D Aaiall B aal) aind) slay) /i

LAY G MIn A pladia) Cagasidl (8 jral) jeaial) Ay

Gl g el ¢l aviga (1)
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Command Window

>> A=[10 22 36 4144 59 61 73]
>> nin(4)
\ Jd:dg ug LiJ‘ Lal Y
54 Aadal) 3 @3 )M-dl"#"

@) 38 haal) o ) il sl /o

G S 4 paie pual oo Gl ashy ddgiad) 8 el ol

F=A=1 15211232145, 321157, 142 10]

e =
1 15 =2 11
2= 1 =4 5
= 1 15 7
1 4 2 10

:ﬂm‘g’m. .13
D Aqiall jalinl) £gana dla) /f

D YIS S SUM e aladinly dsiall jualic aen ges (Say -

Gadl ga e ¢ Gl aiga( )
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Conna rd W1 d o

@) A ghanll yabial) £ ana sla) /o

&“MD}A&@A‘;} \.J;L?_‘.c dgac dstnaégaﬁ)“&)mhﬂ\t}mjha‘g—

= A=[115211:23145, 31157, 142 10]

o=

== Be=sumi(&)
E =

28 21 30 35
== C=sumi B

=

s palind) Gpda Juala alag). 14
rdaiall yaliall G Juala alay) /i

YK prod alatiul asidl jalic Cipn duals MATLAB sy -

i i
== ¥=[1 2 3 4].
== prod(Y)
ans —
=24

Gl g e ¢ ) e (1)
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W 28 gnall juabiall i Juala alag) /s

== B=prod( b
==

59 &0 TOE0

1.7Z14e+010

pall Juala il anid)l gualic G gy AT oy Y aladiu) 1)) 4si

o S s 4 il

dghadl) kb alay .15

Dok LS diag ey alaainl &y lall slagy

=> ¥ By defining the Square Matriz A
== A=[115211,23145,31157, 149 10]

15 2 1
I 4 5
1 43 7
4 5 10

== U By Getting the Diagonal of the Matrix &

62

) g e ¢ el ptiea (1)



&l Ja

e oasl oI o Lias
dohx I g dadasd Il 5 Luca

wol>g Qowdl y— 54 ) iy

(
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HAgha) Jilad) Jo AL MATLAB cilighs -
D Osmdl) - Gign Ak
Lben agii g olial J<) 8 LS.l ‘";j 5a38€X ) saaly daity faii A8yyLal) 530
(X =Xp ) baic X jsaall phaid a2 (X, Fo) xeF(X) dlall s
fok WS 2y F W&g)héﬂ@zéiﬁﬁxrﬂz_}

e _ F(xo)
tand = F'(xq) = —
F(Xo)
X =%~ Eitxe)
E = 20| « 100
f(x)
A
a (x0.f0)
Ger o fr)
b/ 6 .
X; a X

Bmh&;}aﬂwu@(xr,ﬁ,)w\mﬁ\hmeuf} Xy = Xopoad

D (1) Gk

ALY Aally () sudl ) - (5 530 A8y Hhay f(x) = 7% — x Al s

:Jad)
Al 4G Jllly Jal) ¥ 5 -
f’(x) =—e*-1
T fI(XO)
e -0
X1 = 0-— ﬁ =05
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E,=0-05=05

~ f(0.5) _
X, = 05— 7 oes = 0566311
E, = 05— 0566311 = —0.066311
f(0.566311)
X3 = 0.566311 — 5 ey = 0567143
E, = 0567143 — 0.566311 = 0.000832
~ f(0.567143)
Xy = 0567143 — 5 e = 0567143

‘MATLAB JI ik Jall Lals -

File Edit Text Cell Tools Debug Desktop Window Help
el fB2R o« S A F | &%

1 I:Eunctin:un z=f [x)

£ -  Z=expl-x)-X:
. M-File 43 e ¢ sudl ) - (i aldas s el J)
File Edit Text Cell Tools Debug Desktop “Window Help

el +t2Ro | & #F 88|

1 Ifunctinn n=fp (=)

2 - nE-exp(-xi-1:;

. M-File 48l e & gudl ) — (5 ally dfidia zea g o2he] (S
M-File 4dld o o gudl ) — (g3 A ) )l & i g U JSG))
Dl el g J)sall oy jaty
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File Edit Text Cell Tools Debug Desktop MWindow Help
D @ & 2R o~ | S| #F &858

1 I:Eunr_:tin:ln [root,x] = newtonlia,tol)
2
8 |= test = abhsifiall:
4l [= i = 1:
5 — x(i) = a:
&6 — while test > tol
= a =a - £ia)sfpial:
g - test = abhsifial):
g [= i = i+1:
io — =(i) = &r
11 - end
12
13 — root = a;
= [coot , =] = mpmewtornl (O,0.02)
il L el -
0. SEe3
e =
o O . SO0 0O.5665
e
3

Crsmd) 5 — 5 g Ay yda A )l sA 2w AELE Jiag oDhe | JSE (e
+ Agbad) Jibwal) Ao AL MATLAB i -
D gk Ady sk

M-File 4ilid e Gusla 48 jha dae ) & ruia g Ul J<)
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File

Edit Text Cell Tools Debug Desktop ‘Window Help

Nel {2Ro & HF 88 BRE BB stessss
1 I:Eunctic:n X = gauss (L, B)

2 - MNiL = zi=zefd,2); [WNE1,NE] = =ize|(E):

3 - 1f NEl1 ~= NA, error('l and B must have compatible dimensions'): end
4 - N =NL + NB; AB = [A(1:Ni, 1:NAL) Bil:Ni, 1:NE)]

S5 - epss = eps¥fones(Mi,1);

6 - for k= 1:Ni

- [akx,kx] = maxiakhs (AR (k:NL, k)) ./

g wax (abs ([LE (k:NL,k + 1:Ni] epss({1:ML - k& + 11]"311"):

9 - if akx < eps, error|'3ingular mwatrix and Mo unigque solution'): end
10 - mx = kK + kx - 1;

11 - if kx = 1

12 - twmp row = LBk, k:N):

13 -  LAE(k,k:N) = AB(mx,k:N):;

14 - LB (mx,k:N) = twp row;

15 - end

16 - AB(k,k + 1:N) = AB(k,k+1:N)/AB(k, k):

17 -  LAE(k. k) = 1;

18 - for m =k + 1: Ni

19 -  AE(m,k+1:M) = AB|(m,k+1:M) - ABE(m, k) *4B(k,k+1:I1);

20 -  AE(m.k) = 0:

21 - end

22 - end

23 - x(Ni,:) = AB(NA NL+1:N);

24 -  for m = Ni-1: -1:1

25 - xfm,:) = ABi(mw,NA + 1:N)-A4B(m,m + 1:N&)*xim + 1:Mi,:);

26 - end

1 (2) Gk

O sha Ayl AN sl Ja
x—2y+z=0, 3x—y—2z2=9,
dx+3y—3z=3

Pl Gyyday Jall oYl

1 2 110
3 -1 -2|9 R, = 3R, — R,
4 3 -3I3
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1 2 110
(0 7 -5 9) R; =4R; — Rj
4 3 -3I3
1 2 110
(0 7 —59) R3:?R2_R3
0O 5 713
1 2 1 0
0 7 -5 9
0 0 _24/7_24/7

X3 =
7X, —5X3 =9
7X,—5 =9
Xy =
Xy +2X,+%x3=0
X;—4+1=0

X, =3
Lt

X, =3, X, =1 X;=-2

AL MATLAB 4syk Jall 1 Lats

D esla adphay Jall gy Y1 JA
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‘ To get started, sSelect MATLAE Help or Demos from the Help menu.

> R=[1 2 123 -1 -2:4 3

L =
1 z 1
3 =1 -2
4 3 -3

»> ¥ = gauss(L,E)

AR =
1 a 1
k] -1 =2
3 3 -3
¥ =
3.0000
—2.0000
1.0000
>3

-31
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;g

e cpailly (gaall Jalaill 3 Jilual) Jad el Gylall s 2ay
DY) mt ) Jasill 5 MATLAB 4dyl
Ay ] Jpeagll HS) sgal zliad dpulil Gyl o L1
. MATLAB Ju saaall Jalaill (Jiluse Ja 4184 .2
SH5 g pls Jgndd Applay saael) Jilail) Blise Ja 8 2Ly MATLAP .3
48

GAY) Gkl e Alled SSIMATLAB daudsy Jilual) Ja Yiaa! .4
il gl

byl lleall Ja b dgally Ca gl a5 Losee agulall alasin) 1
. o) i Jgeasll

0)»aMATLAB e Cajpill 1K1 3 MATLAB by aae 52l .2
sl

iy S Jaall & Glbabyll A MATLAB Gulail {38 < elac) .3
NAeisaay @llig MATLAB sala) <dall

., Aalall sLall 8 MATLAB wiliudss b ST (3eaill 4
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